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Problem 8

e Evaluate

N K n
I S
What Is thek approximate value of this

sum, when p Is very large?



Formula 1

Textbook P.188 (5.40)

A'f (X) = ;@(—1) £ (x+K)

(integer n>0 )



Formula 2

Textbook P.189 (bottom)

g FO)=ax" +a, X7+ +ax +ax
then

nla, ifn<d
A' T (0) =
©) {O if n>d



Observation

Formula 1

AL " (X) = Z@(—l)“ Hf (x+k)

Our problem

SRvery



Evaluation (1/5)
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Use Formula 1
A f (X) = Z(Ej(—l)”‘k f (x+Kk)

X+K

A= D" —)
K
A= D" k(l——)




Evaluation (2/5)

A'F(0) = :%ﬁa(l)“k (1—%)n
k N k—n N
k)

~C) Y Py

K

n k K N|_ (_ 1\N AN
>(R)eva- et

k




Evaluation (3/5)

n k k N _ (_1\N AN
>[R)en a5 = e

k

Use Formula 2 A" f (0) = nla

X n
f (X) — (1_5) / (Binomial Expansion)

-1+ (—1)1(2)(%)1 + (—1)2(2)(%)2 +..+ (—1)”(2)(%)n

2, = () 4CCY




Evaluation (4/5)

A'f(0)=nla, = n!(—l)”(%)n

Z(E)(—l)k (1—%)n = (—=1)"A" f (0)
‘ N N 1 N
=D (-D)"n! (ﬁ)



Evaluation (5/5)

When nis very large,
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